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1 100kN/m%#Z5| 100|000 ~ 099 11492 |3mEBZDZ| — ~ — — — [ 100kN/M#%#Z25 | 1.00 | 11.15 ~ 1421 114.92 |3mZEEZD - ~ - - —
ThLlst 100)1099 ~ 878 100.00 | ThUs 000 ~ 878|237 12.70 ThLlst 100|500 ~ 1115 100.00 | Ths5 | 500 ~ 1421|237 12.70
2 100kN/m#%#Bz25| 1.00)| 000 ~ 012 10178 |3mZEBZ3| — ~ — — — | 100kN/Mi%#8Z5 | 1.00 | 11.08 ~ 1141 101.78 |3m%&#EA S -~ — — —
ThLlst 100|012 ~ 791 100.00 | Fhilst | 000 ~ 791|236 12.64 ThLlst 100|500 ~ 1108 100.00 | =hst | 500 ~ 1141|2536 12.64
3 100kN/m##z25| 1.00)| 000 ~ 0.10 101.50 |3m%&xEZB| — ~ — — — [ 100kN/m##Z25 | 1.00 | 11.10 ~ 11.37| 101.50 |3mZEEZS -~ — — —
ThLlst 100010 ~ 789 100.00| FThids | 000 ~ 789|192 10.25 ThLlst 100|500 ~ 1110 100.00 | =hst | 500 ~ 1137 1.92 10.25
p 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 000 ~ 702 89.11 | #hus | 000 ~ 702|194 10.38 zh st 1.00 | 5.00 ~ 944 89.11 | #hst | 5.00 ~ 9.44 | 1.94 10.38
5 100kN/m#%#8% % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
ThLlst 100|000 ~ 622 7815 | #FhLAS | 000 ~ 622|209 11.16 ThLlst 1001500 ~ 9.00 78.15 | Ths | 5.00 ~ 9.00 | 2.09 11.16
6 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
ThLlst 100|000 ~ 708 89.84 | TS | 000 ~ 708|186 9.97 Thilst 1001500 ~ 9.10 89.84 | TS | 5.00 ~ 9.10| 1.86 9.97
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zh st 1.00 | 0.00 ~ 682 86.30 | =hds | 000 ~ 682|187 10.00 zh st 1.00 | 5.00 ~ 8.60 86.30 | =n LS | 5.00 ~ 860 | 1.87 10.00
g 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
ThLlst — -~ = — | Zh st -~ = — — ThLlst — - ~ — —| Ehist — ~ — — —
100kN/m#%#8% % ~ ImERBZ S ~ 100kN/m#%#8% % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#%#8 % % ~ ImERBZ S ~ 100kN/m#%#8% % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#%#8% % ~ ImERBZ S ~ 100kN/m#%#8% % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#%#8% % ~ ImERBZ S ~ 100kN/m#%#8% % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#%#8% % ~ ImERBZ S ~ 100kN/m#%#8Z % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#%#8% % ~ ImERBZ S ~ 100kN/m#%#8 % % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/m%#8 % % ~ ImERBZ S ~ 100kN/m#%#8Z % ~ ImEHEZD ~
ZhLst ~ Zh s ~ ZhLst ~ Zh s ~
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